
Les développements limités à connaître !

ex = 1 + x+
x2

2!
+ · · ·+

xn

n!
+ xn ε(x)

Exemple. À l’ordre 3, ex = 1 + x+ x2

2 + x3

6 + x3 ε(x).

cosx = 1−
x2

2!
+
x4

4!
+ · · ·+ (−1)n

x2n

(2n)!
+ x2n+1 ε(x)

Exemple. cosx = 1− x2

2 + x4

24 + x5 ε(x) à l’ordre 5.

sinx = x−
x3

3!
+
x5

5!
+ · · ·+ (−1)n

x2n+1

(2n+ 1)!
+ x2n+2 ε(x)

Exemple. sin x = x− x3

6 + x4 ε(x) à l’ordre 4.

tanx = x+
x3

3
+

2
15
x5 + x6 ε(x)

ln(1 + x) = x−
x2

2
+
x3

3
+ · · ·+ (−1)n−1x

n

n
+ xn ε(x)

Exemple. À l’ordre 3, ln(1 + x) = x− x2

2 + x3

3 + x3 ε(x).

1
1 + x

= 1− x+ x2 + · · ·+ (−1)nxn + xn ε(x)

Exemple. 1
1+x = 1− x+ x2 − x3 + x3 ε(x) à l’ordre 3.

1
1− x

= 1 + x+ x2 + · · ·+ xn + xn ε(x)

Exemple. 1
1−x = 1 + x+ x2 + x2 ε(x) à l’ordre 2.

(1 + x)α = 1 + αx+
α(α− 1)

2!
x2 + · · ·+

α(α− 1) · · · (α− n+ 1)
n!

xn + xn ε(x)

Exemple. Pour α = 1
2 , on obtient, à l’ordre 3,

√
1 + x = 1 + x

2 −
x2

8 + x3

16 + x3 ε(x).
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